Tema nosTopeHuUA «MppaunoHanbHble ypaBHEHUAY
CeoiicTBa apudpmMeTUUYECKOro KOpHsA
a+\b=a+b
Ja+Va=2va
a-b=a\b=1a’-b
Vab=va-b
Vaa=\d=a

PelwweHne nppaunoHanbHbIX ypaBHeHuit (06pasubli)

x+7=3 V2x=3=1x+5
(Vx+7)=(3) (V2x=3)=(Vx45)

x+7=9 2X—3=Xx+5
x=9-7 2X—Xx=5+3
x=2 x=8
TIposepka IIposepka

2+7=3 \V2-8-3=1845
-3 J16-3=413
3=3 J13=113

Omeem:x =2 2. Omsem:x=8



VX2 =7 x+10=24x
(V2 =7 x+10)2=(24/x )’

=7 x+10=4x
x2—7x—4x+10=0
X —11x+10=0

U+11°=4-1-10 _11+y121- 40 _
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b = ;X
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IIposepka
V12-7-1410=241
V4=2

2=2
V10°=7-10+10=2+10
V100—70+10=+/40
J40=+/40

Omeem: x,=1,x,=10

=1,x,=10
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PewunTtb YypaBHEeHUS:

1. Vx+9=1

2. Vx—4=3

3. V2x+1=3

4 3x—11=4

5. V2x—1=Vx+4

6. Vx+6=43x-10

7. Jﬁ+9x—4:3J;
g X+16x-9=4Vx
0. ¢x%42x+7:2J§;

10. _ Vx-1=x-3

x+1=vx+3
(x+1)'=(Vx+3)
X4+2x+1=x+3

X +2x-x+1-3=0
X*+x=2=0
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Ipogepka

—2+1=y-2+3

~1=y1

-1#1
1+1=y1+3

=14

2=2

Omeem:x=1

—2x =1




